AR SUEE 2 7Y S T
B A B 2 P 2R [
A TLAYEE ] 500bar

L

XEHEL A EIERA R EEETLP .
REZFULEATTEFRMER, REME.
REMAESRER LB ERE RRTRESE
EEFAIE.

YIEHRBAE, N B AR EFEEERE RN
TEEEAT LB ARG AT 3R AR .
SARMZET L 4> AR G3.800

LZE s
TEEMBL R AR, R
R SYTRIN, B R

FEEm
HEI SR FRERZH R
BRIEINE. FBEMETEHIELFAIRB A0.100

M H#k . www.fdzc.net

A% % 9,15

021-51872743

N

S —g—

REMERAFR

EMEHBERNRYRES, FEFTRRETH
EHAMIMEER

£ & ©®D=32mm &) H

Kantseal XF5BUX 7R % £

£112PD [mm] 12 16 25 32
EEFOI [mm] 8 10 16 20
1752 £0.5 [mm] 8 10 10 16
. 100bar [kN] 1.1 2.0 49 8
RENE 500bar [kN] 5.6 10.0 24.5 40
B/NEERLE A [N] 32 56 151 183
F1I0mm{FIEEHE  [cmI 113 2.01 4.91 8.04
a [mm] M20x1.5 M24x15 M36x1.5 M42x1.5
b [mm] 12 15 20 25
© [mm] 25 34 35 40
e 0.5 [mm] 46 58 66 75
B2 o R [mm] M5x10 M6x12  M10x15 M12x15
g [mm] 15 18 23 25
i [mm] 29 33 49 65
SW 1 [mm] 24 27 41 55
SW 2 [mm] 7 8 13 17
BXIENTLE [Nm] 90 110 130 200
e [kg] 0.16 0.25 0.65 0.92
e 1450-000 1451-000 1453-000 1454-000
ISz P %451
I
L]
H £ e —|——— 4 — ——ﬁrr—ﬁ—;ﬁ
—————— T — — _ | i
- L N
%A A2 R FHu: 13601809714

E-mail:chengff@sh163.net



